1. [bookmark: _GoBack]A 799	2 Kassa 9810,-/	4 HW-Erlöse 8175,-	↑
	3 Ust. 1635,-

2.  A 800 	2 Richter 11040,-/	4 HW-Erlöse 9200,-	↑
		3 Ust. 1840,-

3. E 521	3 Möbel AG 145,80,-/	0 BGA 121,5,- 	=
		2 VOST 24,3 

4. K 749 	7 Portogebühren 4,56,-/	2 Kassa 4,56,-	↓

5. E 320 	5 HW-Einsatz 153,09,-/	3 LKW Walter AG 186,71	↓
2 VOST 30,62,-

6. K 2789 	7 Ausgangsfracht 116,6,-/	2 Kassa 139,92	↓
2 VOST 23,32,-

7.  	9 Privat 500,-/	4 Eigenverbrauch 417,- 	↑

			3 Ust 83,-

8.  	3 Harold Gartner 586,80,- / 5 HW-Einsatz 489,- 
		2 VOST           97,80,-

9.  	3 Harold Gartner 3325,20,- / 2 Kassa 3325,20,- 	=


10.  	7 GWG 291,67 /	2 Kassa 350	
	2 Vost. 58,33
11.  	2Kassa 500,-/	2 Kunde 500,- 	=


